

New classes of K -uniformly convex and starlike functions with respect to symmetric points

Saroja K

Department of Mathematics, SR & BGNR GASC, Khammam, Telangana

Bharavi Sharma R

Department of Mathematics, Kakatiya University, Warangal, Telangana

ABSTRACT

In this paper, we introduce a new subclass of k -uniformly starlike and convex functions with respect to symmetric points. We provide necessary and sufficient conditions, coefficient estimates, distortion bounds, extreme points and radii of close to convexity, star likeness and convexity for the functions in this class. We also obtain integral transforms for the functions in this class.

2000 Mathematic subject classification. Primary 30C45.

Keywords: Analytic function, k -uniformly convex functions, coefficient inequalities, Fekete-Szego inequality.

1. INTRODUCTION

Let \mathcal{A} denote the class of functions given by
$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1.1)$$

which are analytic in the open unit disc

$U = \{z : |z| < 1\}$ and normalized by $f(0) = f'(0) - 1 = 0$

Let S denote the subclass of \mathcal{A} consisting of functions that are univalent in U .

Let S^* the subclasses of S consisting of functions starlike in U . It is known that $f \in S^*$ if and only

if $\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > 0, \quad z \in U$.

Goodman [2, 3] introduced the concept of uniform starlikeness and uniform convexity for functions in A . A function $f(z)$ is said to be uniformly convex if $f(z)$ is convex and has the property that each circular arc γ contained in U with center ξ is also in U , the arc $f(\gamma)$ is convex. Similarly the function $f(z)$ is uniformly starlike if $f(z)$ is starlike and has the property that for each circular arc γ is contained in U with center ξ is also in U , the arc $f(\gamma)$ is starlike. The classes of functions consisting of uniformly convex and starlike functions are denoted by UCV and UST respectively.

The following analytic Characterization of UCV and UST are obtained by Goodman [2, 3]. The class of uniformly convex functions (UCV) consists of functions $f \in A$ satisfying,

$$\operatorname{Re} \left\{ 1 + (z - \xi) \frac{f''(z)}{f'(z)} \right\} \geq 0, \quad \forall z, \xi \in U$$

The class of uniformly starlike functions (UST) consists of functions $f \in A$ satisfying

$$\operatorname{Re} \left\{ \frac{(z - \xi) f'(z)}{f(z) - f(\xi)} \right\} \geq 0, \quad \forall z, \xi \in U$$

Ronning.F [8], Ma and Minda [4] have individually given the following one variable characterization for the function f in UCV and UST classes.

A function $f \in A$ is said to be in the class UCV if and only if

$$\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \left| \frac{zf''(z)}{f'(z)} \right|, \quad \forall z \in U$$

Let the class of functions $f(z)$ for which there is a uniformly convex function $F(z)$ such that $f(z) = zF'(z)$, be denoted by S_p . It is easy to see that the function $f(z)$ is in S_p if and only if

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > \left| \frac{zf'(z)}{f(z)} - 1 \right|, \quad \forall z \in U$$

Recently many research workers has extended or generalized the classes UST , UCV and the class S_p . Recently S. Shams, S.R. Kulkarni and J.M. Jahangiri [10] introduced the classes $SD(k, \beta)$ and $KD(k, \beta)$ to be the classes of functions $f \in A$ satisfying the conditions

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > k \left| \frac{zf'(z)}{f(z)} - 1 \right| + \beta$$

$$\operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) > k \left| \frac{zf''(z)}{f'(z)} \right| + \beta \text{ respectively for some } k \geq 0 \text{ and } \beta (0 \leq \beta < 1)$$

It is noted that $f(z) \in KD(k, \beta)$ if and only if $zf'(z) \in SD(k, \beta)$. They have shown some sufficient conditions for $f(z)$ to be in the classes $SD(k, \beta)$ and $KD(k, \beta)$.

By imposing the condition $0 \leq k \leq \beta$, S. Owa, Y. Polatoglu and E. Yavuz [5] obtained, coefficient inequalities, distortion properties for the functions in the classes $SD(k, \beta)$ and $KD(k, \beta)$.

H.M. Srivastava, T.N. Shanmugam, C. Ramachandran and S. Siva Subramanian [12] defined and studied the class $U(\lambda, \alpha, \beta, k)$ to be the class of functions $f \in T$ for which

$$\operatorname{Re} \left(\frac{zF'(z)}{F(z)} \right) > k \left| \frac{zF'(z)}{F(z)} - 1 \right| + \beta$$

$$(0 \leq \alpha \leq \lambda \leq 1) (0 \leq \beta < 1) \& k \geq 0.$$

Where $F(z) = \lambda \alpha z^2 f''(z) + (\lambda - \alpha) zf'(z) + (1 - \lambda + \alpha) f(z)$

They have obtained the coefficient inequalities, necessary sufficient conditions, and distortion properties convex linear combinations, radius of starlikeness, convexity and integral operators for the functions in this class.

Sakaguchi [9] defined the class of starlike functions with respect to symmetric points as follows.

A function $f \in S$ is said to be starlike with respect to symmetric points in U iff

$$\operatorname{Re} \left(\frac{2zf'(z)}{f(z) - f(-z)} \right) > 0, \quad z \in U$$

We denote this class by S_s^* .

Many researchers have discussed the following class of functions convex with respect to symmetric points and its subclasses [6, 7, 11, 13]

A function $f \in S$ is said to be convex with respect to symmetric points in U if and only if

$$\operatorname{Re} \left(\frac{[zf'(z)]}{f'(z) + f'(-z)} \right) > 0, \quad \forall z \in U$$

Let T denote the class consisting of functions of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \tag{1.2}$$

Here a_n is a non-negative real number.

Silverman [11] Introduced and investigated the following subclasses of T .

$$T^*(\alpha) = S^*(\alpha) \cap T, \quad C(\alpha) = K(\alpha) \cap T \quad (0 \leq \alpha < 1)$$

In this paper, we introduce the class $U_s(\lambda, \alpha, k, \beta)$ of functions regular in U given by (1) and defined as follows.

Definition: A function $f(z) \in A$ is said to be in the class $U_s(\lambda, \alpha, k, \beta)$ if for all $z \in U$

$$\operatorname{Re} \left\{ \frac{2zF'(z)}{F(z) - F(-z)} \right\} > k \left| \frac{2zF'(z)}{F(z) - F(-z)} - 1 \right| + \beta \tag{1.3}$$

Where $F(z) = \lambda \alpha z^2 f''(z) + (\lambda - \alpha) z f'(z) + (1 - \lambda + \alpha) f(z)$

For suitable values $\lambda, \alpha, k, \beta$ of the class of functions $U_s(\lambda, \alpha, k, \beta)$ reduces to various new classes of regular functions.

We also observe that

i. $U_s(0, 0, 0, 0) = s_s^*$ and

ii. $U_s(1, 0, 0, 0) = c_s^*$

We now let $TU_s(\lambda, \alpha, k, \beta) = U_s(\lambda, \alpha, k, \beta) \cap T$.

2. Coefficient inequalities

We employ the technique adopted by Aqlan et.al [1] to find the coefficient estimates for the function class $TU_s(\lambda, \alpha, k, \beta)$.

Theorem 2.1: A function $f \in TU_s(\lambda, \alpha, k, \beta)$ if and only if

$$\sum_{n=2}^{\infty} \left[(2n(1+k) - (k+\beta)) \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] + (k+\beta)(n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1)(-1)^n \right] a_n \leq 2 \left[(1-\beta) - (\alpha - \lambda)(k+\beta) \right]$$

for $0 \leq \alpha \leq \lambda \leq 1$, $0 \leq \beta < 1$, $k \geq 0$.

Proof: Let a factorial $f \in T$ and satisfies the condition (2.1). We will show that $f \in TU_s(\lambda, \alpha, k, \beta)$

Applying the principle

$$\operatorname{Re}(w) > k|w-1| + \beta \Leftrightarrow \operatorname{Re}\left(w(1+ke^{i\theta}) - ke^{i\theta}\right)_{s\beta} \quad (2.2)$$

$$(-\pi \leq \theta \leq \pi, \quad 0 \leq \beta < 1, \quad k \geq 0)$$

For the function $w(z) = \frac{2zF'(z)}{F(z) - F(-z)}$ on right hat side, we get

$$\operatorname{Re}\left[\frac{2zF'(z)(1+ke^{i\theta}) - ke^{i\theta}[F(z) - F(-z)]}{F(z) - F(-z)}\right] > \beta \quad (2.3)$$

By setting

$$G(w) = 2ZF'(z)(1+ke^{i\theta}) - ke^{i\theta}[F(Z) - F(-z)]$$

$$H(z) = F(z) - F(-z)$$

The above inequality (2.3) is equivalent to

$$|G(z) + (1-\beta)H(z)| > |G(z) - (1+\beta)H(z)|$$

Consider

$$|G(z) + (1-\beta)H(z)|$$

$$|(4-2\beta+2\alpha-2\lambda)z - 2k(\alpha-\lambda)i^\theta z - (2\alpha-2\lambda)\beta z|$$

$$-\sum_{122}^{\infty} \left[\left[2n[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] + (1-\beta) \left[\begin{matrix} [(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ -[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1] \end{matrix} \right] (-1)^n \right] \right] a_n z^n$$

$$-\sum_{122}^{\infty} \left[(2n-1)[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] + [n(n-1)\lambda\alpha(\lambda - \alpha)(n+1) + 1] \right] a_n z^n$$

$$\geq (4-2\beta+2\alpha-2\lambda)|z| - 2k(\alpha-\lambda)|z| - 2\beta(\alpha-\lambda)|z|$$

$$-\sum_{122}^{\infty} \left[\left[2n+(1-\beta) \right] [(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] - (1-\beta) \right] a_n |z|^n - k[$$

$$\left[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1 \right] (-1)^n$$

$$\sum_{122}^{\infty} \left[(2n-1)[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] + [n(n-1) + \alpha - (\lambda - \alpha)(n+1) + 1] (-1)^n \right] a_n |z|^n$$

$$\geq [4-2\beta - (2\alpha-2\lambda)(k+\beta-1)]|z| -$$

$$\sum_{n=2}^{\infty} \left[\left[2n+(1-\beta) \right] [(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] - \right. \\ \left. (1-\beta)(n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1) \right] a_n |z|^n$$

$$-k \left[\sum_{n=2}^{\infty} (2n-1) \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] \left[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1 \right] (-1)^n \right] a_n |z|^n$$

(2.5)

Consider similarly

$$|F(z) - (1-\beta)1 + (z)|$$

$$= \left| -2\beta z + [-(2\alpha - 2)] [k + \beta + 1] z + \sum_{n=2}^{\infty} [-[2n]] \right|$$

$$\left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] - (1+\beta) \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right]$$

$$+ (1+\beta) \left[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1 \right] a_n z^n +$$

$$\sum_{n=2}^{\infty} \left[- \left[(2n-1) \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] + \left[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1 \right] (-1)^n \right] \right]$$

$$\leq 2\beta |z| + (2\alpha - 2\lambda)(1+k+\beta) |z| +$$

$$\sum_{n=2}^{\infty} \left[2n \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] - (1+\beta) \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] + \right. \\ \left. (1+\beta) \left[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1 \right] a_n |z|^n \right]$$

$$\sum_{n=2}^{\infty} \left[(2n-1) \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] + \left[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1 \right] (-1)^n \right] a_n |z|^n$$

(2.6)

Therefore from inequalities (2.5) and (2.6) we have

$$|G(z) + (1-\beta)H(z)| - |G(z) - (1+\beta)H(z)|$$

$$\geq \left[4(1-\beta) - 4(\alpha - \lambda)(k + \beta) \right] - 2 \sum_{n=2}^{\infty} \left[\frac{\left[(2n(k+1) - (k + \beta))(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] +}{(k + \beta)(n(n-1)\lambda\alpha - (n+1) + 1)(-1)^n} \right] a_n |z|^n$$

$$\geq \left[4(1-\beta) - (\alpha - \lambda)(k + \beta) \right] - 2 \sum_{n=2}^{\infty} \left[\frac{\left[2n(k+1) - (k + \beta) \right] \left[(n-1)(n\lambda\alpha + \lambda - \alpha) + 1 \right] +}{(k + \beta)(n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1)(-1)^n} \right] a_n |z|^n$$

≥ 0 using the result in (2.1)

$$\Rightarrow \operatorname{Re} \left\{ \frac{2zF'(z)}{F(z) - F(-z)} \right\} > k \left| \frac{2zF'(z)}{F(z) - F(-z)} - 1 \right| + \beta \quad \text{from (2.2)}$$

Hence $f \in TU_s(\lambda, \alpha, k, \beta)$

Conversely suppose $f \in TU_s(\lambda, \alpha, k, \beta)$

By setting $0 \leq |z| = \gamma < 1$ and choosing the values of z on the positive real axis, then from inequality (2.3), we have

$$\operatorname{Re} \frac{\left[2\gamma - (2\alpha - 2\lambda)\gamma k e^{i\theta} - 2 \sum_{n=2}^{\infty} n [(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] a_n \gamma^n - \sum_{n=2}^{\infty} [(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] [2n-1] k e^{i\theta} a_n z^n - \sum_{n=2}^{\infty} [n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1] (-1)^n a_n \gamma^n k e^{i\theta} \right]}{(2\alpha - 2\lambda + 2)\gamma + \beta \sum_{n=2}^{\infty} \left[\frac{n(n-1)\lambda\alpha + (\lambda - \alpha)(n-1) + 1 - [n(n-1)\lambda\alpha - (n-\alpha)(n+1) + 1] (-1)^n}{[n(n-1)\lambda\alpha - (n-\alpha)(n+1) + 1] (-1)^n} a_n \gamma^n \right]} > \beta \quad (2.7)$$

In view of the elementary identity

$$\operatorname{Re} 0(-e^{i\theta}) \geq -|e^{i\theta}| = -1$$

Then the above inequality (2.7) becomes

$$\operatorname{Re} \frac{\left[2[(\gamma - \beta) - (\alpha - \lambda)(k + \beta)]\gamma - \sum_{n=2}^{\infty} [2n(1+k) - (k + \beta)] [(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] a_n \gamma^n - (k + \beta) [n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1] (-1)^n a_n \gamma^n \right]}{(2\alpha - 2\lambda + 2)\gamma + \sum_{n=2}^{\infty} \left[\frac{n(n-1)\lambda\alpha + (\lambda - \alpha)(n-1) + 1 - [n(n-1)\lambda\alpha - (n-\alpha)(n+1) + 1] (-1)^n}{[n(n-1)\lambda\alpha - (n-\alpha)(n+1) + 1] (-1)^n} a_n \gamma^n \right]} \geq 0. \quad (2.8)$$

Letting in (2.8) we get

$$\sum_{n=2}^{\infty} \frac{[2n(1+k) - (k + \beta)] [(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] - (k + \beta) [n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1] (-1)^n}{[n(n-1)\lambda\alpha - (n-\alpha)(n+1) + 1] (-1)^n} a_n \leq 2[(1 - \beta) - (\alpha - \lambda)(k + \beta)]$$

This is the result in (2.1)

Hence the theorem.

Theorem 2.2: If $f \in TU_s(\lambda, \alpha, k, \beta)$,

$$a_n \leq \frac{2[(1 - \beta) - (\alpha - \lambda)(k + \beta)]}{[2n(1+k) - (k + \beta)] [(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] - [(k + \beta) [n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1] (-1)^n]} \quad \forall n \geq 2 \quad (2.9)$$

3. Distortion and covering theorems for the function class $TU_s(\lambda, \alpha, k, \beta)$

Theorem 3.1: If the function $f \in TU_s(\lambda, \alpha, k, \beta)$, then

$$r - \frac{2(1 - \beta) - (2\alpha - 2\lambda)(k + \beta)}{[4(1+k) - (k + \beta)] [(2\lambda\alpha + \lambda - \alpha) + 1] + (k + \beta) [2\lambda\alpha - 3(\lambda - \alpha) + 1]} r^2 \leq |f(z)| \leq r + \frac{2(1 - \beta) - (2\alpha - 2\lambda)(k + \beta)}{[4(1+k) - (k + \beta)] [(2\lambda\alpha + \lambda - \alpha) + 1] + (k + \beta) [2\lambda\alpha - 3(\lambda - \alpha) + 1]} r^2 \leq 0 < |z| = r < 1 \quad (3.1)$$

The equality in (3.1) is attained for the function f , given by

$$f(z) = z - \frac{2(1-\beta) - (2\alpha - 2\lambda)(k + \beta)}{[4(1+k) - (k + \beta)][(2\lambda\alpha + \lambda - \alpha) + 1]} \cdot r^2 \quad (3.2)$$

Proof: Since $f \in TU_s(\lambda, \alpha, k, \beta)$ from in equation (2.1) we have

$$\sum_{n=2}^{\infty} \left[\frac{[2n(1+k) - (k + \beta)][(n-1)(2\lambda\alpha + \lambda - \alpha) + 1] +}{(k + \beta)[n(n-1)\lambda\alpha - (\lambda - \alpha)((n+1) + 1)(-1)^n]} \right] a_n \leq 2[(1-\beta) - (\alpha - \lambda)(k + \beta)]$$

It is easily known that

$$\begin{aligned} & \left[\frac{[4(1+1) - (k + \beta)][(2\lambda\alpha + \lambda - \alpha) + 1]}{(k + \beta)[2\lambda\alpha - 3(\lambda - \alpha) + 1]} \right] \sum_{n=2}^{\infty} a_n \leq \\ & \sum_{n=2}^{\infty} \left[\frac{[2n(1+k) - (k + \beta)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1] +}{(k + \beta)[n(n-1)\lambda\alpha - (\lambda - \alpha)(n+1) + 1](-1)^n} a_n \right] \\ & \leq 2[(1-\beta) - (\alpha - \lambda)(k + \beta)] \quad \forall 0 < |z| = \lambda < 1 \\ & \Rightarrow \sum_{n=2}^{\infty} a_n \leq \frac{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]}{\left[\frac{4(1+k) - (k + \beta)[2\lambda\alpha + \lambda + \alpha + 1] +}{(k + \beta)(2\lambda\alpha - 3(\lambda - \alpha) + 1)} \right]} \quad (3.3) \end{aligned}$$

Consider

$$\begin{aligned} |f(z)| &= \left| z - \sum_{n=2}^{\infty} a_n z^n \right| \leq |z| + \sum_{n=2}^{\infty} a_n |z|^n \\ &\leq r + \frac{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]}{\left[\frac{4(1+k) - (k + \beta)[2\lambda\alpha + \lambda + \alpha + 1] +}{(k + \beta)(2\lambda\alpha - 3(\lambda - \alpha) + 1)} \right]} \cdot r^2 \end{aligned}$$

Using the in equality (3.3)

This gives the right hand side of in equality (3.1)

Also

$$\begin{aligned} |f(z)| &= \left| z - \sum_{n=2}^{\infty} a_n z^n \right| \geq |z| - \sum_{n=2}^{\infty} a_n |z|^n \\ &\geq r - r^2 \sum_{n=2}^{\infty} a_n \geq r - \frac{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]}{\left[\frac{4(1+k) - (k + \beta)[2\lambda\alpha + \lambda + \alpha + 1] +}{(k + \beta)(2\lambda\alpha - 3(\lambda - \alpha) + 1)} \right]} \cdot r^2 \end{aligned}$$

This is the left hand side of (3.1)

It can be easily seen that the function $f(z)$ defined by 3.2 is the extremal function for the theorem.

Theorem 3.2: If the function $f \in TU_s(\lambda, \alpha, k, \beta)$, then

$$1 - \frac{4[(1-\beta) - (2\alpha - 2\lambda)(k + \beta)]}{\left[\left[(4(1+k) - (k + \beta)) \right] \left[(2\lambda\alpha + \lambda - \alpha) + 1 \right] \right] + (k + \beta)[2\lambda\alpha - 3(\lambda - \alpha) + 1]} r \leq |f'(z)| \leq 1 + \frac{4[(1-\beta) - (\alpha - \lambda)(k + \beta)]}{\left[\left[(4(1+k) - (k + \beta)) \right] \left[(2\lambda\alpha + \lambda - \alpha) + 1 \right] \right] + (k + \beta)[2\lambda\alpha - 3(\lambda - \alpha) + 1]} r \quad \forall 0 < |z| = r < 1 \quad (3.4)$$

The equality in (3.4) holds true for the function and given by (3.2)

Proof: Since $f \in TU_s(\lambda, \alpha, k, \beta)$ we have

$$|f'(z)| \leq 1 + \sum_{n=2}^{\infty} na_n |z|^{n-1} \leq 1 + r \sum_{n=2}^{\infty} na_n \quad (3.5)$$

And

$$|f'(z)| \geq 1 - \sum_{n=2}^{\infty} na_n |z|^{n-1} \geq 1 - r \sum_{n=2}^{\infty} na_n \quad (3.6)$$

The result in (3.4) holds true from (3.5), (3.6) and using the simple consequence of (3.3) given by

$$\sum_{n=2}^{\infty} na_n \leq \frac{4[(1-\beta) - (\alpha - \lambda)(k + \beta)]}{\left[\left[4(1+k) - (k + \beta) \right] \left[2\lambda\alpha + \lambda + \alpha + 1 \right] \right] + (k + \beta)(2\lambda\alpha - 3(\lambda - \alpha) + 1)(-1)^n} (-1)^n$$

The result is sharp for the function of given in 3.2.

4. Closure theorems for the class $TU_s(\lambda, \alpha, k, \beta)$

In the next theorems we prove that the class $f \in TU_s(\lambda, \alpha, k, \beta)$ is closed under convex linear combinations

Theorem 4.1: If $f_1(z) = z$ and

$$f_n(z) = z - \frac{2[(1-\beta) - (\lambda - \alpha)(k + \beta)]}{\left[\left[2n(1+k) - k + \beta \right] \left[(n-1)(n\lambda\alpha + \lambda + \alpha) + 1 \right] \right] + (k + \beta)(n\lambda\alpha - (n+1)(\lambda - \alpha) + 1)(-1)^n} \quad (4.1)$$

Then $f \in TU_s(\lambda, \alpha, k, \beta)$ iff it can be expressed in the form $f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$ where $\lambda_n \geq 0$ and

$$\sum_{n=1}^{\infty} \lambda_n = 1$$

Proof: Suppose $f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$ with $\lambda_n \geq 0$ and $\sum_{n=1}^{\infty} \lambda_n = 1$

Since

$$\begin{aligned} & \sum_{n=1}^{\infty} \lambda_n f_n(z) \\ &= \lambda_1 f_1(z) + \sum_{n=2}^{\infty} \lambda_n f_n(z) \\ &= \left[1 - \sum_{n=2}^{\infty} \lambda_n \right] z + \sum_{n=2}^{\infty} \lambda_n \left[z - \frac{2[(1-\beta) - (\alpha-\lambda)(k+\beta)]}{\left[\begin{aligned} & [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ & + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda-\alpha) + 1](-1)^n] \end{aligned} \right]} \right] z^n \\ &= z - \sum_{n=2}^{\infty} \lambda_n \left[\frac{2[(1-\beta) - (\alpha-\lambda)(k+\beta)]}{\left[\begin{aligned} & [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ & + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda-\alpha) + 1](-1)^n] \end{aligned} \right]} \right] z^n \end{aligned}$$

Consider

$$\begin{aligned} & \sum_{n=2}^{\infty} \lambda_n \frac{2[(1-\beta) - (\alpha-\lambda)(k+\beta)]}{\left[\begin{aligned} & [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ & + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda-\alpha) + 1](-1)^n] \end{aligned} \right]} x \\ & \frac{\left[\begin{aligned} & [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ & + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda-\alpha) + 1](-1)^n] \end{aligned} \right]}{2[(1-\beta) - (\alpha-\lambda)(k+\beta)]} \\ &= \sum_{n=2}^{\infty} \lambda_n = 1 - \lambda_1 \leq 1 \end{aligned}$$

Thus the coefficient of $f(z)$ satisfies inequality (2.1). Hence from theorem (2.2) it follows that $f \in TU_s(\lambda, \alpha, k, \beta)$.

Conversely suppose $f \in TU_s(\lambda, \alpha, k, \beta)$.

Since $a_n \leq \frac{2[(1-\beta) - (\alpha-\lambda)(k+\beta)]}{\left[\begin{aligned} & [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ & + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda-\alpha) + 1](-1)^n] \end{aligned} \right]}, n \geq 2$

$$\text{Setting } \lambda_n \leq \frac{\left[\begin{array}{l} [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]}, a_n$$

And $\lambda_1 = 1 - \sum_{n=2}^{\infty} \lambda_n$ then

$$f(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$$

This completes the proof of the theorem.

Theorem 4.2: The class $TU_s(\lambda, \alpha, k, \beta)$ is closed under convex linear combinations.

Proof: Suppose that each of the function $f_l(z)$ given by $f_l(z) = z - \sum_{n=1}^{\infty} a_{n,l} z^n$ ($l=1,2$) is in the class $TU_s(\lambda, \alpha, k, \beta)$.

We need to prove that the function $H(z)$ given by

$$H(z) = \lambda_2 f_1(z) + (1-\lambda) f_2(z) \quad (0 \leq \lambda \leq 1) \text{ also lies in the class } TU_s(\lambda, \alpha, k, \beta).$$

$$\text{Since } H(z) = z - \sum_{n=2}^{\infty} [\lambda a_{n,1} + (1-\lambda) a_{n,2}] z^n$$

Consider

$$\begin{aligned} & \sum_{n=2}^{\infty} \left[\frac{[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]} \right] [\lambda a_{n,1} + (1-\lambda) a_{n,2}] \\ &= \lambda \sum_{n=2}^{\infty} \left[\frac{[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]} \right] a_{n,1} \\ &+ (1-\lambda) \sum_{n=2}^{\infty} \left[\frac{[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]} \right] a_{n,2} \\ &\leq \lambda \left(2[(1-\beta) - (\alpha - \lambda)(k + \beta)] + (1-\lambda) \left[2[(1-\beta) - (\alpha - \lambda)(k + \beta)] \right] \right) \\ &\leq 2[(1-\beta) - (\alpha - \lambda)(k + \beta)] \end{aligned}$$

Thus from theorem 2.1, $H(z) \in TU_s(\alpha, \lambda, k, \beta)$

Hence the class $TU_s(\lambda, \alpha, k, \beta)$ is closed under convex linear combinations.

5. Radii of Star likeness, Convexity and close to convexity for the functions in the class $TU_s(\lambda, \alpha, k, \beta)$

Theorem 5.1: If, $f(z) \in TU_s(\lambda, \alpha, k, \beta)$ then f is starlike of order δ ($0 \leq \delta < 1$)

$|z| < r_1(\lambda, \alpha, k, \beta, \delta)$ Where

$$r_1(\lambda, \alpha, k, \beta, \delta) = \inf_n \frac{\left[\frac{(1-\delta)[2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1]}{+(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n} \right]}{(n-\delta)2[(1-\beta)-(\alpha-\lambda)(k+\beta)]} \quad \forall n \geq 2$$

And the result is sharp.

Proof: Suppose $f(z) \in TU_s(\lambda, \alpha, k, \beta)$. It is sufficient to show that

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \delta \quad [0 \leq \delta < 1, |z| < r_1(\lambda, \alpha, k, \beta, \delta)] \quad (5.1)$$

Replacing $f(z)$, $zf'(z)$ in the left hand side of (5.1) with their equivalent expressions in series, we get

$$\left| \frac{\sum_{n=2}^{\infty} (n-1)a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} (n-1)a_n z^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} (n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} (n-1)a_n |z|^{n-1}}$$

This will be bounded by $(1-\delta)$ if

$$\sum_{n=2}^{\infty} (n-1)a_n |z|^{n-1} \leq (1-\delta) \left[1 - \sum_{n=2}^{\infty} (n-1)a_n |z|^{n-1} \right]$$

$$\sum_{n=2}^{\infty} \left(\frac{n-\delta}{1-\delta} \right) |z|^{n-1} a_n \leq 1 \quad (5.2)$$

Since for $f(z) \in TU_s(\lambda, \alpha, k, \beta)$ from theorem (2.1) we have

$$\sum_{n=2}^{\infty} \frac{\left[\frac{[2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1]}{+(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n} \right]}{2[(1-\beta)-(\alpha-\lambda)(k+\beta)]} a_n \leq 1$$

The condition (5.2) will be satisfied if

$$\left(\frac{n-\delta}{1-\delta} \right) |z|^{n-1} \leq \frac{\left[\frac{[2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1]}{+(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n} \right]}{2[(1-\beta)-(\alpha-\lambda)(k+\beta)]} \quad \text{for each } n \geq 2$$

$$\Rightarrow |z| \leq \frac{\left[\frac{(1-\delta)[2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1]}{+[(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n} \right]}{(n-\delta)2[(1-\beta)-(\alpha-\lambda)(k+\beta)]} \frac{1}{n-1}$$

Setting $|z| = r_1(\lambda, \alpha, k, \beta, \delta)$, the result of the theorem follows. And the result is sharp for each n for the functions $f_n(z)$ given in (2.8).

Theorem 5.2: If, $f(z) \in TU_s(\lambda, \alpha, k, \beta)$ then f is convex of order $\delta (0 \leq \delta < 1)$ in

$|z| < r_1(\lambda, \alpha, k, \beta, \delta)$ Where

$$r_2(\lambda, \alpha, k, \beta, \delta) = \inf_n \frac{\left[\frac{(1-\delta)[2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1]}{+[(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n} \right]}{2n(n-\delta)[(1-\beta)-(\alpha-\lambda)(k+\beta)]} \quad \forall n \geq 2$$

And the result is sharp.

Proof: Suppose $f \in TU_s(\lambda, \alpha, k, \beta)$. It is sufficient to show that

$$\left| \frac{zf''(z)}{f'(z)} \right| \leq 1 - \delta \quad \text{for } 0 \leq \delta < 1, |z| < r_2(\lambda, \alpha, k, \beta, \delta) \quad (5.3)$$

Replacing $f'(z)$ and $f''(z)$ values in the left hand side of (5.3) with their equivalent expressions in series, then we get

$$\left| \frac{\sum_{n=2}^{\infty} n(n-1)a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} na_n z^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} n(n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} na_n |z|^{n-1}}$$

This will be bounded by $(1-\delta)$ if

$$\sum_{n=2}^{\infty} n(n-1)a_n |z|^{n-1} \leq (1-\delta) \left[1 - \sum_{n=2}^{\infty} na_n |z|^{n-1} \right] \text{ or}$$

$$\sum_{n=2}^{\infty} \frac{n(n-\delta)}{(1-\delta)} a_n |z|^{n-1} \leq 1 \quad (5.4)$$

Since for $f \in TU_s(\lambda, \alpha, k, \beta)$ from theorem (2.1) we have

$$\sum_{n=2}^{\infty} \frac{\left[\frac{[2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1]}{+[(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n} \right]}{2[(1-\beta)-(\alpha-\lambda)(k+\beta)]} a_n \leq 1$$

The condition (5.4) will be satisfied if

$$\frac{n(n-\delta)}{(1-\delta)} |z|^{n-1} \leq \frac{\left[\begin{array}{l} [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]} \text{ for each } n \geq 2$$

$$\Rightarrow |z| \leq \frac{\left[\begin{array}{l} (1-\delta)[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]^{\frac{1}{n-1}}}{2n(n-\delta)[(1-\beta) - (\alpha - \lambda)(k + \beta)]}, n = 2, 3$$

Setting $|z| = r_2(\lambda, \alpha, k, \beta, \delta)$, the result of the theorem follows.

Sharpness of this result can be easily verified for functions $f_n(z)$ stated as in (2.8).

Theorem 5.3: If, $f \in TU_s(\lambda, \alpha, k, \beta)$ then f is close to convex of order δ ($0 \leq \delta < 1$) in $|z| < r_1(\lambda, \alpha, k, \beta, \delta)$ where

$$r_3(\lambda, \alpha, k, \beta, \delta) = \inf_n \frac{\left[\begin{array}{l} (1-\delta)[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]^{1/n-1}}{2n(n-\delta)[(1-\beta) - (\alpha - \lambda)(k + \beta)]} \quad \forall n \geq 2$$

And the result is sharp.

Proof: Suppose $f \in TU_s(\lambda, \alpha, k, \beta)$. It is sufficient to show that

$$|f'(z) - 1| \leq 1 - \delta \text{ [for } 0 \leq \delta < 1, |z| < r_3(\lambda, \alpha, k, \beta, \delta)] \quad (5.5)$$

Replacing $f'(z)$ in the left hand side of (5.5) with their equivalent expressions in series, then we get

$$\left| 1 - \sum_{n=2}^{\infty} na_n z^{n-1} - 1 \right| \leq \sum_{n=2}^{\infty} na_n |z|^{n-1}$$

This will be bounded by $(1 - \delta)$ if

$$\sum_{n=2}^{\infty} na_n |z|^{n-1} \leq 1 - \delta \quad \text{or}$$

$$\sum_{n=2}^{\infty} \frac{n}{(1-\delta)} a_n |z|^{n-1} \leq 1 \quad (5.6)$$

Since for $f \in TU_s(\lambda, \alpha, k, \beta)$ from theorem (2.2) we have

$$\sum_{n=2}^{\infty} \frac{\left[\begin{array}{l} [2n(k+1) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]} a_n \leq 1$$

The condition (5.6) will be satisfied by

$$\left(\frac{n}{1-\delta}\right) |z|^{n-1} \leq \frac{\left[\begin{array}{l} [2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]} \text{ for each } n \geq 2$$

Or

$$|z| \leq \frac{\left[\begin{array}{l} (1-\delta)[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]^{\frac{1}{n-1}}}{2n(n-\delta)[(1-\beta) - (\alpha - \lambda)(k + \beta)]}, \forall n \geq 2$$

Setting $|z| = r_3(\lambda, \alpha, k, \beta, \delta)$, the result follows.

Sharpness of this result can be easily verified for functions $f_n(z)$ stated as in (2.8).

Theorem 5.4: If, $f(z) \in TU_s(\lambda, \alpha, k, \beta)$ then $\sum_{n=2}^{\infty} \left(\frac{n-\delta}{1-\delta}\right) a_n \leq 1$

Where $\delta \leq 1 - \frac{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]}{\left[\begin{array}{l} [4(1+k) - (k+\beta)][(2\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[2\lambda\alpha - 3(\lambda - \alpha) + 1] - 2[(1-\beta) - (\alpha - \lambda)(k + \beta)]] \end{array} \right]}$

And the result is sharp.

Proof: Suppose $f \in TU_s(\lambda, \alpha, k, \beta)$. It is sufficient to show that

$$\sum_{n=2}^{\infty} \left(\frac{n-\delta}{1-\delta}\right) a_n \leq 1 \quad (5.7)$$

Since $f \in TU_s(\lambda, \alpha, k, \beta)$ from theorem (2.1) we have

$$\sum_{n=2}^{\infty} \frac{\left[\begin{array}{l} [2n(k+1) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] \\ + [(k+\beta)[n\lambda\alpha - (n+1)(\lambda - \alpha) + 1](-1)^n \end{array} \right]}{2[(1-\beta) - (\alpha - \lambda)(k + \beta)]} a_n \leq 1$$

The condition (5.7) will be satisfied by

$$\left(\frac{n-\delta}{1-\delta}\right) \leq \frac{\left[\begin{array}{l} [2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1] \\ + [(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n \end{array} \right]}{2[(1-\beta)-(\alpha-\lambda)(k+\beta)]} \text{ for each } n$$

$$\delta \leq \frac{\left[\begin{array}{l} [2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1] \\ + [(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n \end{array} \right] - 2[(1-\beta)-(\alpha-\lambda)(k+\beta)]}{\left[\begin{array}{l} [2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1] \\ + [(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n \end{array} \right] - 2[(1-\beta)-(\alpha-\lambda)(k+\beta)]} \forall n \geq 2$$

$$\delta \leq 1 - \frac{(n-1)2[(1-\beta)-(\alpha-\lambda)(k+\beta)]}{\left[\begin{array}{l} [2n(1+k)-(k+\beta)][(n-1)(n\lambda\alpha+\lambda+\alpha)+1] \\ + [(k+\beta)[n\lambda\alpha-(n+1)(\lambda-\alpha)+1](-1)^n \end{array} \right] - 2[(1-\beta)-(\alpha-\lambda)(k+\beta)]}$$

$$= \psi(n) \quad (5.8)$$

Since for $\psi(n) \geq \psi(2) \forall n \geq 2, x \geq 0, 0 \leq \beta < 1, 0 \leq \alpha \leq \lambda \leq 1$

Putting $n = 2$ in (5.8) we get

$$\delta \leq 1 - \frac{2[(1-\beta)-(\alpha-\lambda)(k+\beta)]}{\left[\begin{array}{l} [4(1+k)-(k+\beta)][(2\lambda\alpha+\lambda+\alpha)+1] \\ + [(k+\beta)(2\lambda\alpha-3(\lambda-\alpha)+1)] \end{array} \right] - 2[(1-\beta)-(\alpha-\lambda)(k+\beta)]}$$

Hence the result. The sharpness of this result can be easily verified with the extremal function given in (3.2). This completes the proof of the theorem.

6. Integral operators

In the next theorem we consider the integral operators of functions in the class $TU_s(\lambda, \alpha, k, \beta)$.

Theorem 6.1: If, $f \in TU_s(\lambda, \alpha, k, \beta)$ then the function defined by

$$F(z) = \frac{1+C}{z^c} \int_0^c t^{c-1} f(z) dt \quad [t > -1] \text{ is also} \quad (6.1)$$

in $TU_s(\lambda, \alpha, k, \beta)$

Proof: Suppose $f(z) \in TU_s(\lambda, \alpha, k, \beta)$ from (6.1) we have

$$f(z) = z - \sum_{n=2}^{\infty} \left(\frac{c+1}{c+n} \right) a_n z^n, \quad 0 < \frac{c+1}{c+n} < 1$$

Consider

$$\sum_{n=2}^{\infty} \left[\frac{[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] +}{(k+\beta)(n\lambda\alpha - (n+1)(\lambda - \alpha) + 1)(-1)^n} \right] a_n \left(\frac{C+1}{C+n} \right)$$

$$\leq \left[\frac{[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] +}{(k+\beta)(n\lambda\alpha - (n+1)(\lambda - \alpha) + 1)(-1)^n} \right] a_n$$

$$\leq \left[\frac{[2n(1+k) - (k+\beta)][(n-1)(n\lambda\alpha + \lambda + \alpha) + 1] +}{(k+\beta)(n\lambda\alpha - (n+1)(\lambda - \alpha) + 1)(-1)^n} \right] a_n$$

$$\leq 2[(1-\beta) - (\alpha - \lambda)(k + \beta)] \quad (\text{Using inequality (2.1)})$$

$$\Rightarrow f(z) \in TU_s(\lambda, \alpha, k, \beta) \quad \text{Hence the theorem.}$$

REFERENCES

1. E. Aqlan, J.M. Jahangir and S.R. Kulkarni: New classes of K Uniformly Convex and Starlike functions, Tamkang journal of mathematics, 35(3), 261-266(2004).
2. Goodman.A.W: On uniformly convex functions, Ann.Pal.Math, 56, 87-92 (1991).
3. Goodman. A.W: On uniformly starlike functions, Jour. Of Math. Anal and Appl., 155, 364-370 (1991).
4. Ma.W and Minda: A unified treatment of some special class of univalent functions in proceedings of the conference on complex analysis (Tianjin 1992)—Z.Li, F.Ren, L.Yang and S.Zhang Eds Conf.Proc.Lecture notes Anal. 157-169., International press, Cambridge Mass, USA, 1994.
5. Owa.S, Polatoglu and Yuvaz.E: Coefficient Inequalities for classes of uniformly starlike and convex functions, JIPAM, Vol.7, Issue 5, Article 16 (2006).
6. Parvatham.R and Radha.S:-On α -starlike and α -close to convex functions with respect to n-symmetric points, Indian J.Pure Appl. Math 17(9), 1114-1122 (1986).
7. Ravichandran: Starlike and convex functions with respect to conjugate points, Acta. Math. Acad. Pedagogy, Nyhazi (N.S.), 20(1), 31-37(2004).
8. Ronning.F: Uniformly convex functions and a corresponding class of starlike functions, Proc. Amer. Math. Soc. 118, 189-196 (1973).
9. Sakaguchi K: On a certain univalent mappings, J.Math. Soc. Japan 11, 72-75 (1959).
10. Shamas. S., Kulkarni.S.R. and Jahangir.J.M. Classes of uniformly starlike and convex functions, Int. Jour. of Math.Soc., 55, 2959-2961 (2004).
11. Shanmugam T.N., Ramachandran C and Ravichandran: Fekete-Szego problem for subclasses of starlike functions with respect to Symmetric points, Bull., Korean Math. Soc. 43(3), 589-598 (2006).
11. Silverman H: Univalent functions with negative coefficients, Proc. Amer. Math. Soc. 51, 109-116 (1975).
12. H.M.Srivastava, T.N. Shanmugam, Ramachandran and S.Sivasubramanian new subclass of K-Uniformly Convex functions with negative coefficients, Journal of inequalities in pure and applied mathematics Volume 8, issue 2, Article 43, 14 pages (2007).
13. Wang Z.G: A new subclass of quasi-convex functions with respect to K-Symmetric points, Lobachevski J.Math. 19, 41-50 (2005).